GEOSEARCH
LOGGING INC

Scale 1:1200 (1"=100") Imperial
Measured Depth Log

Well Name: Windoes 2244H
Location: Harrison County, WV
License Number: 47-033-05406 Region: Appalachia
Spud Date: 12/18/2010 Drilling Completed:
Surface Coordinates: Lat: 39.1273167
Long:-80.2332583
Bottom Hole
Coordinates:
Ground Elevation (ft): 1,324’ K.B. Elevation (ft): 1,340’
Logged Interval (ft): 2,670’ To: Total Depth (ft):
Formation: Marcellus
Type of Drilling Fluid: Air Drilling, Oil Based Mud
Printed by MUD.LOG from WellSight Systems 1-800-447-1534 www.WellSight.com

OPERATOR

Company: XTO Energy
Address: 600 E. Exchange Ave.
Fort Worth, TX 76164

GEOLOGIST

Name: Kelley Hartley, Daniel Blake, & Randy Shuman,
Company: Geosearch Logging, Inc.
Address: P.O. Box 6005
Edmond, OK 73083-6005
(405) 340-5545

Comments

2 Manned Logging Service
Start Logging Date: 12/24/2010
OBM date:

Released Logging Date:
Drilling Contractor: UDI #209
PC193,ML126,HASP V-42, H-33
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